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In the figure, one end of a uniform beam of weight 222 N is hinged to a wall; the other end is

supported by a wire that makes angles 6 = 30.0° with both wall and beam. Find
(a) the tension in the wire.

(b)  the magnitude and direction of the force of the hinge on the beam.
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The figure shows a uniform beam with a weight of 60.0 N and length of 3.20 m is hinged at its lower end
and a horizontal force F of magnitude 50.0 N acts at its upper end. The beam is held vertical by a cable

that makes an angle 6 = 30.0° with the ground and is attached to the beam at a height # = 1.60 m.
Calculate:

(a) The tension (T) in the cable is.
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(b) The magnitude and direction of the force of the hinge on the beam.
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A uniform beam having a mass of 60 kg and a length of 2.8 m is held in place at its lower end by a pin (P). Its

upper end leans against a vertical frictionless wall as shown in the figure.
(a) Calculate the force on the beam from the wall.
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(b) Calculate the force of the hinge on the beam. ( M,&LBY\ dwde ¥ direchs %
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